4a. Jerome has two coins in his pocket.
They total 40p.

His friend Harry says,
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Is he comrect? Explain your answer.
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Jerome must have
a 1p coin and a 5p
coin.

4b. Phillis has three coins in her pocket.
They total £5.

Her friend Mikey says,

Phillis must have a
£2 coin and two £1
coins.
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Is he comrect? Explain your answer.
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5a. Complete the table.

5b. Complete the table.

Coin | Value [ pmber |  Fquiaen Coin | Value | Colour v:f‘u';";:'fg;l
o 1 50p
o | @mw® |-
‘ 2p £1
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ba. Make 15p in as many different ways
as you can using these coins. Use three

coins or less.
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éb. Make 22p in as many different ways
as you can using these coins. Use three

coins or less.




